Math 124 KAUST Quiz 2 (20 minutes) January 26, 2017

Name:

NOTE: This quiz is double sided! Answer the questions in the spaces provided. Show all
necessary work. If you have any gnestions, raise your hand and I will come try to answer.

1. (20 points) In each of the following prohlems, compute %. You may have to use implicit differentiation,
and/or logarithmic differentiation. There is no need to simplify.

(a) (5 points)
y = e2* In(sin z).

(b} (5 points) o
2y% + Sy — 2° = 40.
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{c) (5 points) _ ‘
_r’lv‘[g 'f-LI;‘,'c/’. L y= :Bsin:c.
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(d) (5 points)

y=tan ' (tan "' (z)) .
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